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QUESTION 1

The Intra-Storage Device Vertical Tiering pattern is applied to resolve issues caused by: 

A. Multiple cloud storage devices that need to vertically scale at the same time 

B. Cloud consumers that are limited to using one cloud storage device to store multiple applications and services 

C. Different disktypesacross redundant cloud storage devices that use different storage methods 

D. Cloud consumers that have cloud storage devices in different geographical regions that need to be combined 

Correct Answer: B 

 

 

QUESTION 2

The _____________ program that is implemented when applying the Hypervisor Clustering and Zero Downtime
patterns can be used to move a virtual server to a different physical server host at runtime. 

A. resilient watchdog 

B. load balancer 

C. live storage migration 

D. live VMmigration 

Correct Answer: D 

 

 

QUESTION 3

The system that is established by the application of the Dynamic Failure Detection and Recovery pattern can address
which of the following issues: (Choose Three) 

A. cloud-based bare-metal physical servers need to be provisioned with operating systems 

B. cloud-based IT resources encountering runtime failure conditions require intervention 

C. the manual process to solve cloud-based IT resource failure is too slow 

D. the manual recovery of IT resources leads to additional failures 

Correct Answer: BCD 

 

 

Latest C90-05A Dumps | C90-05A Study Guide | C90-05A Exam Questions                                2 / 3

https://www.pass4itsure.com/c90-05a.html
https://www.pass4itsure.com/c90-05a.html
https://www.pass4itsure.com/c90-05a.html


https://www.pass4itsure.com/c90-05a.html
2024 Latest pass4itsure C90-05A PDF and VCE dumps Download

QUESTION 4

Applying the Redundant Storage pattern establishes a system made of _____________and _____________cloud
storage devices. The _____________cloud storage device keeps a copy of the data for failover purposes. 

A. primary, secondary, primary 

B. load balanced, clustered, load balanced 

C. primary, secondary, secondary 

D. load balanced, clustered, clustered 

Correct Answer: C  

 

QUESTION 5

The cloud architecture that is established by the application of the Storage Workload Management pattern can rely on
the storage capacity monitor to: (Choose Two) 

A. notify the storage capacity system whenever a cloud storage device is being over-utilized 

B. migrate LUN5 to different cloud storage devices 

C. detect when the workload of a cloud storage device has reached a pre-defined threshold 

D. act as an external interlace to a cloud storage service 

Correct Answer: AC 
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